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BUX41

HIGH CURRENT NPN SILICON TRANSISTOR

DESCRIPTION

The BUX41 is a silicon multiepitaxial planar NPN
transistor in Jedec TO-3 metal case, intended for
use in switching and linear applications in militaty
and industrial equipment.

ABSOLUTE MAXIMUM RATINGS

Symbol Parameter Value Unit
Vceo Collector-base Voltage (le = 0) 250 \%
Veex Collector-emitter Voltage (Vae = - 1.5V) 250 \%
Vceo Collector-emitter Voltage (lg = 0) 200 \% ‘
VeBo Emitter-base Voltage (Ic = 0) 7 \} T

lc Collector Current 15 A
lem Collector Peak Current (tp = 10 ms) 20 A
Is Base Current 3 A
Ptot Total POwer Dissipation at Tease < 25 °C 120 w
Tsig Storage Temperature -65 to 200 °c
T, Max Operating Junction Temperature ) 200 °c

.440
. 420

113 .525 R MAX.
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THERMAL DATA

Rihj-case |Thermal Resistance Junction-case Max l 1.46 I °C/W I
ELECTRICAL CHARACTERISTICS (Tcase = 25 °C unless otherwise specified)
Symbol Parameter Test Conditlons Min. Typ. Max. Unit
Iceo Collector .Cut-off Vce = 160 V 1 mA
Current (I = 0)
Icex Collector Cut-off Vce = 250 V Vge = -1.5V 1 mA
Current Tease = 125 °C
Vce = 250 V Vge = -1.5V 5 mA
leBo Emitter Cut-off Current |Veg =5V 1 mA
(lc = 0)
Vceosus)* | Collector-Emitter lc =200 mA 200 A\
Sustaining Voltage
Veso Emitter-Base Voltage lge = 50 mA 7 \
(lc = 0)
Vcesaty* | Collector-Emitter lc=5A ls=05A 0.38 1.2 \
Saturation Voltage lc=8A le=1A 0.6 1.6 \
VBesat)* {Base-Emitter lc=8A la=1A 1.35 2 \Y
Saturation Voltage
hre* DC Current Gain lc=56A Vce=4V 15 45
lc =8 A Vce =4V 8
Is/b Second Breakdown Vece=30V t=1s 4 A
Collector Current Vce =135V t=1s 0.15 A
fr Transistor Frequency Vce=15YV lc=1A 8 MHz
f =10 MHz
ton Turn-on Time lc =8 A gy = 1A 0.28 1 us
Vee =150 V
ts Storage Time lc=8A g1 =1A 1.2 1.7 us
1t Fall Time lgg =-1A Vce = 1580V 0.25 0.8 us
Clamped Es/b 1Vc|amp= 200V 8 A
Collector Current L =500 pH

* Pulsed: Pulse duration = 300us, duty cycle <2 %




